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d = (% -x) 2+ (Y, - yp)?

y = mx+¢

m = Yo = Y1
X, = X

(x-a)?+(y-b? =r?

IEB Copyright © 2016

INLIGTINGSBLAD

i=1 2
n
Sy =5 [2a+(n-1d]
S, =—;-1<r<l1
1-r
A = P(1-ni)
A=P@L-i)"

Y=y = m(X-X)

m = tan0
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In AABC: a b

sin A - sin B

a’? = b? +¢? - 2bc.cosA

Opperviakte A ABC = %ab.sinc

sin(a + B) = sina.cosP + coso.sinf

cos(a + B) = cosa.cosP — sino.sinf

cos® o — sin’ a

cos2a = 41— 2sin’a

2cos’a —1
_ fx
X==—
n

n(A)
P(A) = —
(A) n(s)
y =a+ bx
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sin(a. — B) = sino..cosP — cosa.sin B

cos(a — B) = cosa.cosP + sino.sinf

sin2a = 2sina.cosa

P(A of B) = P(A) + P(B) — P(A en B)

b ZX-X)(y =)
> (x - %)’

Bladsy ii van ii



